Supplemental Digital Content Table 3. Least Square Means for Measured Troponins (Logarithmic Estimates and Transformed)
	
	Ln estimate of troponin (95% CI)
	P Value

	Troponin (95% CI)


	80% oxygen
	2.9 (2.8 to 3.0)
	
	18 (16 to 20)

	30% oxygen
	2.9 (2.8 to 3.0)
	
	18 (16 to 20)

	Difference
	0.03 (-0.08 to 0.13)
	0.590
	1.03 (0.93 to 1.14)

	Difference in percentage
	
	
	3% (-7% to 14%)


Logarithmic (ln) transformed least square means and CI for troponins and least square means and 95% CI of troponins transformed back.


